normalized X2

[ normalized x? probability |

chiz ThiZ_prob
Entries 5777 F Entries 5777
N 1516 Loov v Mean 0.4379
toor v v |sdDev 205 0.14 v Std Dev 03212
: o2 : PR

=1 B TR o [Eves 5784 0.12f-- - [Entres 5784
10 HE 17| mean 1514 Mean 0.4386

. Std Dev 2,049 Std Dev 0.321

0.4

0.08fF -+ -rebessirer e toe s bbb

0.06f--*

0.04f -+

o ;.»0 i Bt
: S T T
i ""*wuw I um\H\uu!urwuiiiwwH\muw
0 1o 12 14 16 1520 'H”‘ ‘| ‘ ‘H 070506 07 ” Ihl 1
z Prob()(2

n
N O T 1 T T T
= . P . . .
=] . p . . .
o . r . . .
5< 2.5+ GRERRE ] [ ------ e :
o : ] : : :
: Lol :
2f~- | === DQM_V0001_R000000001__Global__mkFit1000__RECO
=== DQM_V0001_R000000001__Global__mkFit100__RECO
15f--- ﬂh “ |- {I #}ﬂ -----
HE ; ------------ ok
. : :
o 05 ] !
3 ; |
o |: !
008 ; | i
32 -1 0 1 2 3

< x2/ ndf >
< X2/ ndf >
=
00

i

Ratio

107 1072

-1
AR(track, jelts)



	Contents
	Page 1


